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 Do as directed.  

 Q1: The monthly salary of a man is ₹ 65000, one-fifth of his salary is spend paying the rent,    

        5/26th of his remaining salary is spent in buying groceries, and half of the rest salary is      

        spent miscellaneous expenses. How much his monthly saving. 

 Q2: The product of two rational numbers is 15/56. If one of the numbers is −5/48, find the  

         other. 

 Q3: Let a, b, c be the three rational numbers where a = 2/3, b = 4/5 and c = −5/6 

        Verify: 

       (i) a + (b + c) = (a + b) + c (Associative property of addition) 

       (ii) a × (b × c) – (a × b) × c (Associative property of multiplication) 

 Q4:  If 3/7th of a bucket is 3liters. Then what is the capacity of the bucket? 

 Q5:  Find the value of -6/7 + 9/8 – 3/5 ÷ 4/7. 

 Q6: Divide the sum of 1⁄7 and 1⁄2 by the product of 9⁄2 and 3⁄7 . 

 Q7: Using appropriate properties find: 

 

 Q8:  Using appropriate properties find: 

 

 Q9: Solve using property 2/5 × (–3/7) – 1/6 × 3/2 + 1/14 × 2/5 

 Q10: One-third of a group of people are men. If the number of women is 200 more than the 

  men, find the total number of people. 


